direg

DIY Plans to Build a Norham Coffee
Table

By Designs by Studio C

Difficulty
Moderate

This table is the ultimate in storage with four drawers (two on each side), a huge shelf, and a large top.

Edge banding will be applied to the exposed edges of the plywood prior to assembly.

THE NORHAM COFFEE TABLE

Page 1 of 10



Tools

Kreg Tools

ﬂ i Kreg® Pocket-Hole Jig 720

I8 %

g&ﬁﬁ;ﬁ Zinc Pocket-Hole Screws

ﬂ i Kreg® Pocket-Hole Jig 720

=
L4

AN

=

Other Tools
Jigsaw

Miter Saw
Table Saw
Tape Measure
Nail Gun
Sander

Air Compressor

Materials

Wood Products

—

Board , 1x2, 72"
2 Board, 1x3, 96"
3 Board, x4, 96"
1 Board,2x2,72"
1 Plywood, 3/4" Thick , Half Sheet

1 Plywood, 3/4" Thick, Full Sheet

Hardware & Supplies
4 12" Drawer Slide Sets
4  Drawer Pulls

100 1-1/4" Brad Nails

100 1-1/4" Pocket Hole Screws (See Tools List)

25 1-1/4" Screws

1 Roll Of Edge Banding

1 Wood Glue

1 Sandpaper - 100, 150, 220 Crits

1 Primer & Paint Or Stain & Sealer

Page 2 of 10

direg


https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-screws-plugs/zinc-pocket-hole-screws/SML-C125-100.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html

Cut List & Parts

4

2

Legs, 2x2 At 19-1/4"

Bottom & Shelf, 34" Plywood At 28" X 48"
Sides, %" Plywood At 4-7/8" X 25"
Drawer Spacers, 1x2 At 25"

Divider , 34" Plywood At 4-7/8" X 28"
Upper Aprons, 1x3 At 25"

Upper Aprons, 1x3 At 45"

Center Supports, 1x3 At 26"

Top, 34" Plywood At 29" X 49"

Drawer Box Bottoms , 34" Plywood At 10-1/2" X 19-5/8"
Drawer Box Sides , 1x4 At 10-1/2"

Drawer Box Front & Back , 1x4 At 10-1/2"

Drawer Fronts, %" Plywood At 4-5/8" X 21-7/8"

Page 3 of 10

direg



direg

Directions

Step One
1 Cut the pieces for the legs and the bottom. Cut the notches in the bottom using a jigsaw. With the pocket hole jig set for 34"

material, drill pocket holes in each notch as shown.

11/2"

og"

Step Two

2 Position the legs in the notches as shown then secure using glue and 1-1/4" pocket hole screws.

Page 4 of 10



direg

Step Three
Cut the pieces for the sides and drill pocket holes in one long edge of each piece. Secure the sides to the bottom between

the legs using glue and 1-1/4" pocket hole screws. The outside face of the sides will be flush with the outside face of the legs.

Step Four
Cut the pieces for the drawer spacers. Position the spacers between the legs so they rest on the bottom and secure in place

using glue and countersunk 1-1/4" screws.

25"

Secure with countersunk
1-1/4" screws

Page 5 of 10



direg

Step Five
Cut the piece for the drawer divider and drill pocket holes along one long edge. Secure to the bottom as shown using glue

and 1-1/4" pocket hole screws.

Step Six
Cut the piece for the shelf and cut the notches using a jigsaw. Spread glue on the top edge of the sides and the divider, then

position the shelf on top.

- 48"

T1 172"

1172"

Page 6 of 10



direg

Step Seven
Secure the shelf using glue and 1-1/4” brad nails through the shelf into the sides and divider.

Secure shelf to sides and divider using
1-1/4" brad nails

Step Eight
Cut the pieces for the upper aprons and drill pocket holes in each end. Spread glue on the ends of each piece and position

the pieces as shown locating them 4" back from the outside face of each leg. Secure using 1-1/4” pocket hole screws.

Each apron is located 1/4" back
from the outer face of the legs

Page 7 of 10



direg

Step Nine
Cut the pieces for the center supports and drill pocket holes in the ends of each piece. Secure to the longer aprons using

glue and 1-1/4" pocket hole screws.

Step Ten
Cut the piece for the top. Spread glue on the top edges of the aprons and the supports. Position the top so that it overhangs

by %2" on each side. Secure using glue and 1-1/4" brad nails through the top into the aprons, legs, and supports.

49"

Page 8 of 10



direg

Step Eleven

Cut the pieces for the drawer boxes. Drill pocket holes in all four edges of the bottom pieces as well as each end of the side

pieces. Secure the sides to the bottom using glue and 1-1/4" pocket hole screws.

ﬁw 5/8" 10 1/2"

312"

Step Twelve

12

Secure the front and back pieces using glue and 1-1/4" pocket hole screws through the bottom pieces, as well as the side

pieces.

Install the drawer slides in the cabinet according to the manufacturer's installation instructions locating them 3/4" back

from the outside faces of the legs. Install the other half of the drawer slides on the bottom of the drawer boxes. Make any

necessary adjustments.

21 1/8"

-

Page 9 of 10



13

direg

Step Thirteen

Cut the pieces for the drawer fronts. Mark the position for the drawer pulls and drill the holes. Shim the drawer front in the
opening - there will be a 1/8” gap around all sides — then drive screws through the holes for the drawer pulls into the drawer
box. Open the drawer, and secure the drawer front using countersunk 1-1/4" screws from the inside. Remove the screws from

the holes for the drawer pull then finish drilling the holes. Install the drawer pull.

217/8" e

A

Page 10 of 10



	DIY Plans to Build a Norham Coffee Table
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Step One
	Step Two
	Step Three
	Step Four
	Step Five
	Step Six
	Step Seven
	Step Eight
	Step Nine
	Step Ten
	Step Eleven
	Step Twelve
	Step Thirteen



